
396-2648Y1 - Tower Mounting Page 1 Revised: 4/27/2022 
For Side of Cradles © 2014-2022 SurePoint Ag Systems, Inc. 

396-2648Y1
Tower Mounting Bracket For  

400 & 500 Gallon Cradles 

Kit Number: 511-100850 

Bolt pump bracket through the slots on the side of the cradle. 

ITEM NO. PART NUMBER DESCRIPTION QTY. 
1 400-2028A2-BK Tower Bracket for 400 & 500 Gallon Cradles 1 
2 384-1095 3/8” Hardware Kit - Hex Cap Bolts and Nuts 1 
3 384-1080 3/8" Hardware Kit - Carriage Bolts and Nuts 1 
4 330-06 3/8" Flat Washer 4 

Sure
Poin

t A
g S

ys
tem

s



 

396-2648Y1 - Tower Mounting Page 2 Revised: 4/27/2022 
For Side of Cradles © 2014-2022 SurePoint Ag Systems, Inc.  

1. Mount the Tower or Odyssey to the bracket 
using four 3/8” Carriage bolts. 

Mounting to Tower Bracket 

2. If section valves are not used, mount BOM 520-
00-045000 (instruction sheet 396-2602Y1) as 
shown at left. 

Sure
Poin

t A
g S

ys
tem

s




